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12. Let B = % 2 4 4|. Show that there exists a subspace V' such that B is
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4. Let C'= 1|1 0 1 3 |. Moreover, let F, be the matrix of the orthogonal
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pro jcctimn_ from R* to r_ow( A) and let P, be the matrix of the orthogonal

projection from R? to col(A)! Find P, and F,!
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16. Find the solution with the method of smallest squares of the equation Ax =

b. where
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and b= [2].
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16. Find the solution with the method of smallest squares of the equation Ax = '&

b. where i i . 1
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16. Find the solution with the method of smallest squares of the equation Ax =

b, where







15. With the method of smallest squares, find the line, which approximates the
points (2,1).(3,2).(5,3) and (6,4) the best!
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15. With the method of smallest squares. find the line, which approximates the

points (2,1),(3,2),(5,3) and (6,4) the best!
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17. Let B =

) 6
] . Show that B is positive definite, and find a matrix C' suc
69 In case of a symmtetric matrix, positive definitness is

2
that 7= 5. equwalent to the nonnegativity of the eigenvalues
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